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Unit One Quiz Review | ate hour
Simplify... ALL the way! | .7 ®
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Find the distance between each pair of points. Simplify radicals. @A |
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Find the midpoint of the lme segment with the given endpomts Slmpll ! 3
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Find the other endpoint of the line segment with the given endpoint and midpoint.
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Find the slope of each line. Simplify fractions. - O P ok .
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Find the slope of the line through each pair of points. Simplify fractions. J SV\« 0\. U)a/ W L\
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Find the length indicated. You must show your GEOMETRY set up 1st, then you must justify each
step. o f
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Solve for x. You must show your GEOMETRY set up 1st, then you must justify each step.
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Find the length indicated. You must show your GEOMETRY set up 1st, then you must justify each
step.
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Construct the perpendicular bisector of each.




Construct a line segment perpendicular to the segment given through the point given.
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Construct the bisector of each angle.
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Graph the image of the figure using the transformation given.

15) reflection across x = —1 16) reflection across y =—1
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17) reflection across y = —x
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19) translation: (x, y) - (x -2,y+ 1)
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21) rotation 90° counterclockwise about the

origin
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18) reflection across y = —x
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20) translation: (x, y) - (x -1, y+ 2)
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22) rotation 180° about the origin
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